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Directions (Q1 - 2):  Choose the correct synonyms of the following words out of the four given 
options: 

1. Impecunious 
 A) Rich  B) Poor  C) Determined  D) Irrelevant 
 

2. Emollient 
 A) Aggravating B) Soothing  C) Acidic  D) Acerbic 
 

Directions (Q. 3 - 4):  Mark the correct opposite of the given word out of four options: 
3. Impunity 
 A) Immunity  B) Licence  C) Liability  D) Exemption 
 

4. Implicate 
 A) to advise  B) to absolve  C) to authorize D) to cut 
 

Directions (Q. 5 - 6):  Mark the correct proposition to be filed in the blanks out of four 
options: 

5. Kavita  is ignorant _______  her mistake  
 A) of    B) to   C) for   D) at 
 

6. His speech was appropriate _______ the occasion. 
 A)  upon  B) to   C) about  D) for 
 

Directions (Q. 7 - 8): Select the correct meaning of the given idioms: 
7. Beat about the bush 
 A) tell lies      B) speech the truth 
 C) say things in a round about fashion  D)  attack the enemy 
 

8. Fly of the handle 
 A) attack someone’s enemies    B) lose one’s temper suddenly 
 C) make one’s escape     D) run away from the difficult situation 
 

Directions (Q. 9 - 10):  Identify the word that is spelt correctly. 
9. A) Amature   B) Amateur  C) Amachure  D) Amatuer 
 

10. A) Conscientous  B) Concientous C) Consientous D) Conscientious 
 

11. How many Dynes are there in one gram weight? 
,d xzke Hkkj esa fdrus Mkbu gksrs gSa% 

fJe rqkw Gko ftu fezB/ vkJhB j[zd/ jBL 
 A) 900   B) 375   C) 981   D) 250 
 

12. Which Indian artist decorated the handwritten copy of the Constitution? 
 A) Nandalal Bose        B) Mihir Sen           C) S.N. Banerji      D) Mukesh Bandyopadhyay 

fdl Hkkjrh; dykdkj us lafo/ku dh gLrfyf[kr dkWih dk vyadj.k fd;k Fkk\ 
 A) uanyky cksl  B) fefgj lsu        C) ,l- ,u- cSuthZ         D) eqds'k canksikè;k; 

fejV/ Gkosh ebkeko B/ ;zftXkB dh jZEfbys ekgh dh ;iktN ehsh ;hL 

 A) Bzdbkb p';  B) fwfjo ;/B  C) n?;an?Ba p?Boih D) w[e/Ù pzd'gkX:k: 
 

13. Longitude measures the angular distance, expressed in degrees of a point on the Earth’s 
surface: 

 A) East or west of prime meridian  B) North or South of the equator 
 C) Only east of prime meridian  D) Only west of the prime meridian 

js[kka'k i`Foh dh lrg ij fcUnq dh fMfxzz;ksa esa dks.kh; nwjh ekirk gS% 
 A) vkfn&js[kka'k dk iwoZ vFkok if'pe  B) Hkweè; js[kk ds mÙkj vFkok nf{k.k   

C) vkfn&js[kka'k dk dsoy iwoZ   D) vkfn&js[kka'k dk dsoy if'pe 

o/ıKÙ fgqEth dh ;sj T[s/ fpzd{ dh fvrohnK ftu e'Dh d{oh wkgdk j?L 

 A) nkfd-o/yKÙ  dk g{op iK gZSwh  B) G{wZX o/yk d/ T[Zso iK dZyD    

C) nkfd-o/ykÙ dk e/tb g{op   D) nkfd-o/yKÙ dk e/tb gZSw 
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14. Who was the first Indian to be selected to the British Parliament? 
 A) Dadabhai Naoroji      B) G.K. Gokhale C) Bipin Chandra Pal        D) Lala Lajpat Rai 

fczfV'k laln ds fy, pquk x;k igyk Hkkjrh; dkSu Fkk% 
 A) nknkHkkbZ ukjksth     B) th- ds- xks[kys    C) fcfiu pUnz iky D) ykyk yktir jk; 

poskBth  ;z;d bJh u[fDnk frnk gfjbk Gkosh e"D ;hL 

 A) dkdkGkJh Bko'ih     B) iha e/a r'yb/ C) fpfgB uzdo gkb D) bkbk bkigs okJ/ 
 

15. As per the Heritage Foundation, India’s rank in Global Economic Freedom Index 2023 out 
of 184 nations is: 
fojklrh laLFkku ds vuqlkj] Xykscy vkfFkZd Lora=krk lwpdkad 2023 eas 184 jk"Vªksa esa Hkkjr dk jSad gS% 

ftok;sh ;z;EkB nB[;ko, rb'pb nkofEe ;[szsosk ;{ueKe 2023 ftu 184 okÙNoK ftu'A Gkos 

dk o?Ae j?L 
 A) 117   B) 121   C) 126   D) 141 
 

16. ‘Zero mile centre’ in India is in 
 Hkkjr esa ^t+hjks ehy lsUVj* dgk¡ ij gSa% 

Gkos ftu “˜ho' whb ;?ANo” feE/ j?L 
 A) Jhansi  B) Bhopal  C) Nagpur  D) Raipur 
 

17. Theme of World Earth Day 2024: 
 A) Planet vs.  Plastics     B) Restore our Earth 
 C) Give a breath to a mother Earth   D) Invest in our Planet 

fo'o Hkw fnol 2024 dk Fkhe% 
 A) xzg cuke IykfLVDl      B) gekjh i`Foh dk iqu:¼kj djuk   

C) ek¡ i`Foh dks l¡kl fnyokuk    D) vius xzg esa fuos'k djuk 

ftÙt G{ fdt; 2024 dk Ehw j?L 

A) rqfj pBkw gbk;fNe;     B) ;kvh fgqEth dk g[Bo-T[Xko eoBk  

C) wK fgqEth ˘ ;kj fdtkT[Dk    D) nkgD/ rqfj ftu fBt/Ù eoBk 
 

18. The organ in the body which accumulates iodine is 
 A) Pituitary gland  B) Thymus  C) Thyroid Gland D) Spleen 

gekjs 'kjhj dk dkSu&lk vax vk;ksfMu dks lafpr djrk gS% 
 A) ihÅ"k xzfUFk   B) Fkkbel  C) voVq xzfUFk  D) frYyh 

;kv/ ;oho dk fejVk nzr nkfJUvhB ˘ ;zfus eodk j?L 

 A) ghT{Ù rqzEh    B) EkJhw;  C) ntN{-rzqEh  D) fsZbh 
 

19. Which was the first Indian Sound Movie: 
 A) Kisan Kanya B) Alam Ara  C) Achhut Kanya D) Raja Harish Chandra 

igyh Hkkjrh; èofu&fQYe dkSu lh Fkh% 
 A) fdlku dU;k  B) vkye vkjk           C) vNwr dU;k            D) jktk gjh'k pUnz 

gfjbh Gkosh X[Bh-fcbw fejVh ;hL 

 A) fe;kB ezfBnk  B) nkbw nkok C) nS{s ezfBnk  D) okik johÙ uzdo 
 

20. Fundamental Duties were added to the Constitution of India through _______Amendment of 
the Constitution: 
Hkkjr ds lafo/ku esa ewy drZO; lafo/ku ds ________ la'kks/u }kjk tksM+s x, Fks% 

Gkos d/ ;zftXkB ftu w{b eosZt ;zftXkB dh ________ ;'X d[nkok i'V/ rJ/ jBL 
 A) 42nd    B) 43rd   C) 44th   D) 45th  
21. In the following question, various terms of an alphabet series are given with one term 

missing as shown by (?).  Chose the missing term out of the given alternatives: 
fuEukafdr iz'u esa o.kZekyk J`a[kyk ds fofHkUu inksa dks vafdr  fd;k x;k gS] ijUrq (\) ls fn[kk;k ,d in 
x+k;c gSA  fn, x, fodYiksa  esa ls xk;c in dks ekywe djks% 
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j/mK fdZs/ gqÙB ftu toBwkbk  bVh d/ ftfGzB gdK ˘ nzfes ehsk frnk j?, go (?)  Bkb 

dykfJnk fJe gd ˆkfJp j?.  fdZs/ rJ/ ftebgK ftu'A ˆkfJp gd wkb{w eo'L 
 CFL, EIK, GJL, IOI, ? 
 A)  KRH  B) KRJ  C) JRU  D) KOV    
 

22. If in a certain code,  ‘bir le nac’  means ‘green and tasty’,  ‘pic nac hor’ means ‘tomato is 
green’  and ‘coc bir hor’  means ‘food is tasty’,  which of the following  means ‘tomato is 
tasty’  in that code?                                                     

 ,d fo'ks"k dksM esa] ‘bir le nac’ dk eryc gS ‘green and tasty’ ‘pic nac hor’ dk eryc gS ‘tomato 
is green’  vkSj ‘coc bir hor’ dk eryc gS ‘food is tasty’ A ml dksM esa fuEukafdr esa ls fdl dk 
eryc ‘tomato is tasty’ gS% 
fJe ftÙ/Ù e'v ftu, ‘bir le nac’ dk wsbp j?, ‘green and tasty’, ‘pic nac hor’ dk wsbp j?, 

‘tomato is green’ ns/ ‘coc bir hor’ dk wsbp j? ‘food is tasty’. T[; e'v ftu j/m fbfynK ftu'A 

fe; dk wsbp ‘tomato is tasty’ j?L 
 A)  bir le hor  B)  pic hor nac  C) hor bir pic  D) none of these 
 

Directions (Q. 23 - 25):  Study the following information carefully to answer the questions: 
 B, D, H, K, P, R and T are seven friends who studied in three management institutes X, Y 

and Z.  They had opted for one out of the three specializations – Marketing, Finance and 
Personnel – with at least two of them in each specialization.  No two persons have the same 
combination of institute and specialization.                        

 The Marketing specialist from institute Y earns the maximum.  D studied in institute Z with 
Personnel specialization and earns more than only B and K.  H studied in institute X with 
marketing and earns less than only P and T.  R  studied  in institute  Z  with Finance   and 
earns  more than  D  but less than H. T   studied  in  institute  X  with Finance  specialization.  
K,  a  Personnel  specialist,   studied  in institute Y  and is  not the least  earner  among  
them.  B is the only Finance specialist from one of these institutes among them. 

fgnk;rsa (23&25 iz'uksa ds fy,)%  iz'uksa ds mÙkj nsus ds fy, fuEukafdr lwpuk dks è;ku ls i<+ks%                 
B, D, H, K, P, R  vkSj T lkr nksLr gSa tks rhu izca/u lLFkkuksa X, Y vkSj Z esa i<+s FksA  mUgksaus us rhu 
fo'ks"k{krkvksa esa ls ,d dks pquk Fkk –  foi.ku] foÙk vkSj dkfeZd izca/u –  mu esa ls de ls de nks us 
izR;sd fo'ks"kKrk esa A fdUgha nks O;fDr;ksa ds ikl laLFkku vkSj fo'ks"kKrk dk leku tqV ugha FkkA 
Y laLFkk ls foi.ku fo'ks"kK lc ls vf/d dekrk gSA D us Z laLFkku esa dkfeZd izcaU/u fo'ks"kKrk dh 
i<+kbZ dh vkSj dsoy B vkSj K ls vf/d dekbZ djrk gSA H us X laLFkku esa foi.ku fo'ks"kKrk dh i<+kbZ 
dh vkSj dsoy P vkSj T ls de dekbZ djrk gSA R us Z laLFkku esa foÙk dh fo'ks"kKrk dh i<+kbZ dh vkSj 
D ls vf/d  ijUrq H ls de dekbZ djrk gSA T us X laLFkku esa foÙk dh fo'ks"kKrk dh i<+kbZ dhA  K 
dkfeZd izac/u dk fo'ks"kK] Y laLFkku esa i<+k vkSj mu esa ls lc ls de dekbZ ugha djrkA  bu laLFkkuksa esa 
ls fdlh ,d laLFkku esa ls dsoy B  gh ,d foÙk fo'ks"kK gSA 

fjdkfJsK (23-25 gqÙBK bJh)L gqÙBK d/ T[Zso  d/D bJh j/mK fdZsh ;{uBk ˘ fXnkB Bkb gV'Q L    
B, D, H, K, P, R ns/ T ;Zs d';s jB fijV/ fszB  gqpzXB ;z;EktK X, Y ns/ Z ftu gVQ/ ;B.  
T[BQK B/ fszB ftÙ/ÙZrsktK ftu'A fJe  ˘ u[fDnk ;h –  wzvheoB, ftZs ans/ eowukoh gqpzX –  T[BQK  
ftu'A xZN' xZN  d' B/ jo/e  ftÙ/Ùrsk. fe;/ d' ftneshnK  e'b ;z;Ek ns/ ftÙ/ÙZrsk dk ;wkB  
i[ZN BjhA ;h. Y ;z;Ek s'A wzvheoB ftÙ/ÙZr ;G s''A tX ewkT[Adk j?. D B/ Z ;z;EK ftu eowukoh-
gqpzX ftÙ/ÙZrsk dh gVQkJh ehsh ns/ e/tb B ns/ K Bkb'A  tZX ewkJh eodk j?.  H B/ X ;z;Ek 
ftu wzvheoB  ftÙ/ÙZrsk  dh gVQkJh  ehsh ns/ e/tb P ns/ T Bkb'A  xZN ewkJh eodk j?. R B/ Z 
;z;Ek ftu ftZs dh ftÙ/ÙZrsk  dh gVQkJh  ehsh ns/ D Bkb'A tZX go H Bkb'A xZN ewkJh eodk j?.  
T B/ X ;z;Ek ftu ftZs dh ftÙ/ÙZrsk  dh gVQkJh ehsh. K, eowukoh  gqpzzX dk ftÙ/ÙZr, Y ;z;Ek 
ftu gfVQnk ns/ T[BQK ftu'A ;G s'A xZN ewkT{ BjhA j?.  fJBQK ;z;EktK ftu'A fe;/ fJe ;z;Ek s'A e/tb 
B jh fJe' fJe ftZs ftÙ/ÙZr j?. 
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23. In which of the institutes did B study? 
B us fdl laLFkku esa i<+kbZ dh ? 

B B/ fejVh  ;z;Ek ftu gVQkJh ehsh ? 
 A)  X   B) Y   C) Z   D) Y or Z 
 

24. Which of the following combinations of institute – individual – specialization is not correct? 

 A)  X – K – Personnel  (dkfeZd izca/u) (eowukoh-gqpzX)  

B) X – H – Marketing    (foi.ku) (wzvheoB) 

 C)  Z  – R  – Finance (foÙk) (ftZs)    

D) None of these (bu esa ls dksbZ Hkh ugha gS) (fJBQK ftu'A e'jh th BjhA j? ) 
 

25. How many of them earn more than D? 
mu esa ls  fdrus O;fDr D ls vf/d  dekrs gSa% 

T[BQK ftu'A  fezB/  ftnesh D Bkb'A tZX ewkT[Ad/ jBL 
 A)  One  B) Two  C) Three  D) None of these 
 

26. A person starts from a point A and travels 3 km eastwards to B and then turns left and travels 
thrice  that distance to reach C.  He again turns left and travels five times the distance he 
covered between A and B and reaches his destination D.  The shortest distance between the 
starting point and the destination is : 
,d O;fDr A fcUnq  ls pyrk gS vkSj iwoZ dh vksj B rd 3km lQ+j djrk gS] fQj og ck,¡ eqM+rk gS 
vkSj ml nwjh ls C rd igq¡pus ds fy, rhu xquk lQ+j djrk gSA og fQj ck,¡ vksj eqM+rk gS vkSj A ,ao B 
ds njfe;ku fd, lQ+j dh nwjh ls ik¡p xquk py dj vius xurO; LFkku D rd igq¡prk gSA vkjaHk fcUnq 
vkSj xurO;&LFkku ds njfe;ku lc ls de nwjh gS% 
fJe ftnesh  A fpzd{ s'A ubdk j? ns/ g{op tb B se 3 Km ;¯o eodk j?, fco T[j yZp/ w[Vdk j? 
ns/ T[; d{oh s'A  C se gj[zuD bJh  fszB-r[Dk ;¯o eodk j?.  T[j fco yZp/ w[Vdk j? ns/ A ns/ 
B ftueko  ehs/ ;¯o dh d{oh Bkb'A  gzi-r[Dk uZb e/ nkgD/ gj[zu-;EkB D se gj[zudk j?.  nkozG 
fpzd{ ns/ gj[zu-;EkB ftueko ;G s'A xZN d{oh j?L                             

 A)  12 km  B) 15 km  C) 16 km  D) 18 km 
 

27. One of the terms  in the number series is wrong. Find out the wrong term: 
fuEukafdr iz'u la[;k yM+h eas ,d in x+yr gS% x+yr in ekyqqe djks% 

j/mK fdZs/ ;zfynk bVh ftu fJe gd ˆbs j?. ˆbs gd wkb{w eo'L 
 93,   309,   434,   498,   521,   533 
 A) 309   B) 434   C) 498   D) 521 
 

28. In a queue, A is eighteenth from the front while B is sixteenth from the back.  If C is twenty-
fifth from the front and is exactly in the middle of A and B, then how many persons are there 
in the queue. 
,d iafDr eas A vkxs ls vBkjgosa LFkku ij gS tcfd B ihNs ls lksygosa LFkku ij gSA ;fn C vkxs ls 
iPphlok¡ gS vkSj A ,oa B ds fcYdqy njfe;ku gS] rks iafDr esa fdrus O;fDr gSa 

fJe esko ftu A nZfrUA nmkothA EK s/ j? id'A fe B fgSb/ gkf;UA ;'bQthA EK s/ j?. i/ C nZfrUA 

gzMhtK j? ns/ A s/ B d/ n?B ftueko j?, sK esko ftu fezB/ ftnesh jBL 
 A) 45   B) 46   C) 47   D) 48 
 

29. If ‘–’  stands for ‘division’, ‘+’ for ‘multiplication’, ‘÷’  for ‘subtraction’ and ‘×’ for 
‘addition’,  then which one  of the following equations is correct? 

;fn ^–* dk eryc ^Hkkx* gS] ^+* dk eryc ^xquk* gS] ^÷* dk eryc ^euQh* gS vkSj ^×* dk eryc 
^tek* gS] rks dkSu&lk lehdj.k lgh gS% 

i/ ^–* dk wsbp “Gkr” j?, ^+* dk wsbp “r[Dk” j?, ^÷* dk wsbp “wBch” j? ns/ ^×* dk wsbp 

“iwQK” j?, sK fejVk ;wheoB  ;jh j?L 
 A)  4 × 5 + 9 – 3 ÷ 4 = 15    B) 4 × 5 × 9 + 3 ÷ 4 =11 
 C)  4 – 5 ÷ 9 × 3 – 4 =17    D) 4 ÷ 5 + 9 – 3 + 4 =18 
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30. A certain number of horses and an equal number of men are going somewhere.  Half of the  
owners  are on their horses’ back while  the remaining ones are  walking along leading  their 
horses.  If the number of legs walking on the ground is 70, how many horses are there: 
?kksM+ksa dh fo'ks"k la[;k vkSj mrus gh O;fDr fdlh rjQ tk jgs gSaA vk/s ekfyd ?kksM+ksa ij lokj gS vkSj 'ks"k 
vius ?kksM+ksa ds vkxs py jgs gSaA ;fn t+ehu ij py jgh Vkaxksa dh la[;k 70 gS] rks ?kksM+s fdrus gSa 

x'fVnK dh ftÙ/Ù frDsh ns/ UB/ jh pzd/ fe;/ gk;/ ik oj/ jB.  nZX/  wkbe x'fVnK T[go p?m/ jB 

ns/ pkeh  nkgD/ x'fVnK d/ nZr/ ub oj/ jB. i/ ˜whB T[go ub ojhnK bZsK  dh frDsh 70 j?, 

sK x'V/ fezB/ jBL 
 A)  10   B) 12   C) 14   D) 16 
 

31. A monkey climbing  up a greased pole, ascends 5m and slips down 2m in alternate minutes.  
If the pole is 35m  high,  then the monkey will reach the top in :  
,d cUnj fpdus iksy ij p<+rk gS_ 5m p<+rk gS vkSj oSdfYid  feuVksa esa 2m uhps fQly tkrk gSA ;fn 
iksy dh Åpk¡kbZ 35m gS rks cUnj fljs rd fdruh nsj rd igq¡p tk,xk% 

fJe pKdo fueD/ g'b T[go uVQdk j?, 5m uVQdk j? ns/ ftebfge fwzNK ftu 2m j/mK fc;b iKdk 

j?.  i/ g'b dh T[ukJh 35m j? sK pKdo f;o/ se fezBh d/o se gj[zu ikJ/rkL 
 A) 11 minutes         B) 11 minutes, 24 seconds  

C) 11 minutes, 36 seconds      D) 11 minutes, 40 seconds 
 

32. Three statements are given in the following question, followed by three conclusions 
numbered I, II and III.  You have to take the given statements to be true  even if they seem  
to be at  variance  from commonly  known  facts.  Read all the conclusions and then  decide  
which of the given conclusions logically  follows  from the given statements,  disregarding 
commonly known facts.    
Statements: 

 Some eye drops are ear  drops        
All eye  drops are liquids     
Some liquids  are drinkable 

 Conclusions: 
 I.  Some eye  drops are drinkable II. Some ear drops are drinkable 
 III. All liquids  are eye  drops 
 A) Only I and II follow    B) Only II and III follow 
 C) All follows      D) None follow 

fuEukafdr iz'u eas rhu dFku fn, x, gSa  vkSj rhu gh fu"d"kZ I, II  vkSj III   fn, gq, gSaA vki us fn, x, 
dFkuksa dks lgh ekuuk gS] ;|fi ;s lkekU; Kkr rF;ksa ls fHkUu ekywe gksrs gSaA lHkh fu"d"kksZ± dks i<+ks vkSj fQj 
fu.kZ; ysa fd dkSu&ls fu"d"kZ rkfdZd rkSj ij fn, gq, dFkuksa dk vuqlj.k djrs gSa] ;|fi lkekU; Kkr rF; 
dqN Hkh gks\ 

 dFku%   
dqN vkbZ MªkIl b;j MªkIl gSa      
lHkh vkbZ MªkWIl rjy gSa        
dqN rjy ihus ;ksX; gSa 

 fu"d"kZ% 
 I. dqN vkbZ MªkWIl ihus ;ksX; gSa II. dqN b;j MªkWIl ihus ;ksX; gSa  III.  lHkh rjy vkb MªkWIl gSa 
 A) dsoy I  vkSj II  vuqlj.k djrs gSa  B) dsoy II vkSj III  vuqlj.k djrs gSa   
 C) lHkh vuqlj.k djrs gSa    D) dksbZ Hkh vuqlj.k ugha djrk  
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j/mK fdZs/ gqÙB ftu fszB eEB fdZs/ rJ/ jB, ns/ fszB jh fBÙeoÙ I, II,  ns/ III  fdZs/ rJ/ jB. 

s[;hA fdZs/ rJ/ eEBK ˘ ;jh wzBDk j? Gkt/A fJj nkw frnks sZEK Bkb'A fGzB wkb{w jz[d/ jB.  ;ko/ 

fBÙeoÙK ˘ gV'Q, ns/ fco ¯?;bk eo' fe fejV/ fBÙeoÙ skofee s"o s/ fdZs/ eEBK dk  nB[;oB 

eod/ jB, Gkt/A nkw frnks sZE e[M th j'D. 

 eEBL 
 e[M nkJh vqkg; Jhno vqkg; jB         

;ko/ nkJh vqkg; sob jB     

e[M sob ghD:'r jB 

 fBÙeoÙ 
 I. e[M nkJh vqkg; ghD:'r jB    II. e[M Jhno vqkg; ghD:'r jB   III.  ;ko/ sob nkJh vqkg; jB 

 A) e/tb I ns/ II nB[;oB eod/ jB  B) e/tb II  ns/ III  nB[;oB eod/ jB            

C) ;ko/ jh nB[;oB eod/ jB   D) e'Jh th nB[;oB BjhA eodk 
 

33. Pointing  to the woman in the picture,  Ravi said, “Her mother has only one grandchild 
whose mother is my wife”.  How is the woman in the picture related  to Ravi? 
fp=k esa efgyk dh vksj b'kkjk djrs gq, jfo us dgk]¶ml dh ekrk dk dsoy ,d xzSaMpkbYM gS ftl dh ek¡ 
esjh iRuh gSA¸ fp=k esa fn[k jgh efgyk ls jfo dk D;k fj'krk gS% 

s;tho ftu n"os tb fJÙkok eofdnK, oth B/ fejk, ““T[; dh wK dk e/tb fJe r?AqvukJhbv j? 

fi; dh wK w/oh gsBh j? ””.  s;tho  ftubh n"os Bkb oth dk eh foÙsk j?L 
 A) Cousin  B) Wife  C) Sister  D) Data inadequate 

 

34. Which Year next to 2024 will have the same calender as that of the year 2024. 
2024 ls vxys fdl o"kZ dk dsyUMj  Hkh 2024 o"kZ ds dsyUMj tSlk gh gksxk% 

2024 s'A nrb/ fe; ;kb dk e?bzvo th 2024  ;kb d/ e?bzvo tork jh j't/rkL 
           A) 2032  B) 2048  C) 2052  D) 2060  

   

35. Choose the correct mirror image from alternatives (A), (B), (C) and (D) of the figure (X)  

js[kkfp=k (X) ds (A), (B), (C) vkSj (D) fodYiksa esa ls lgh niZ.k fcEc dk p;u djks% 

o/ykfuZso (X) d/ (A), (B), (C) ns/ (D) ftebgK ftu'A ;jh dogD fpzp dh u'D eo'L  
 

  

 

 
 

36. The second figure in the first part of the problem figures bears certain relationship to the first figure. 
Similarly, one of the figures of answer figures bears the same relationship to the first figure of the 
second part of problem figure.  You have to select a figure from the set of answer figures which would 
replace the questions mark (?) 

leL;k fp=kksa ds igys Hkkx eas  nwljs js[kkfp=k dk igys js[kkfp=k ls fo'ks"k laca/ gSA blh rjg mÙkj js[kkfp=kksa esa 

ls ,d js[kkfp=k dk leL;k js[kkfp=k ds nwljs Hkkx ds igys js[kkfp=k ls leku laca/ gSA vki us mÙkj js[kkfp=kksa 

ds lsWV esa ls ,d js[kkfp=k dk p;u djuk gS tks iz'u&fpUg (\) dk cny gksxk% 
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;wZf;nk fuZsoK d/ gfjb/ Gkr ftu d{i/  o/ykfuZso  dk gfjb/  o/ykfuZso  Bkb ftÙ/Ù ;zpzX j?.  fJ;/ 

soQK T[Zso o/ykfuZsoK ftu'A fJe  o/ykfuZso dk ;wZf;nk o/ykfuZso d/ d{i/ Gkr d/ gfjb/ o/ykfuZso 

Bkb ;wkB ;zpzX j?.  s[;hA T[Zso o/ykfuZsoK d/ ;?N ftu'A fJe o/ykfuZso dh u'D eoBh j? fijVk 

gqÙB-fuzBQ (?) dk pdb j't/rkL 

 

  

 
 

37. Which of the following dices is identical to the unfolded figure as shown in figure (X)? 
fuEukafdr ikalksa esa ls dkSu&lk izdV js[kkfp=k (X) ds leku gS% 

j/mK fdZs/ gKf;nK ftu'A fejVk gqrN o/ykfuZso (X) d/ ;wkB j?  

 

 

 
 
 
 
 
 

 

38. A cube is coloured red on all its faces.  It is then cut into 64 smaller cubes of equal size.  The 
smaller cubes so obtained are now separated. How many smaller cubes have two surfaces 
painted with red colour? 
,d D;wc dks bl ds lHkh ik'Zoksa ij yky jax fd;k gqvk gSA bl dks fQj leku vkdkj dh 64 NksVh D;wcksa 
esa dkV fn;k tkrk gSA bl rjg izkIr NksVh&D;wcksa dks vc vyx dj fn;k tkrk gSA fdruh NksVh D;wcksa ds 
nks ik'Zoksa ij yky jax gS% 
fJe feT{p ˘ fJ; d/ ;ko/ gkf;nK T[go bkb ozr ehsk j'fJnk j?. fJ;  ˘ fco  ;wkB nkeko dhnK 
64 S'NhnK feT{pK ftu eZN fdZsk iKdk j?.  fJ; soQK gqkgs  S'NhnK feT{pK ˘ j[D nbr eo 
fdZsk iKdk j?. fezfBnK S'NhnK feT{pK d/ d' gkf;nK s/ bkb ozr j?L 

 A)  24    B) 20   C) 12     D) 8 
39. How many squares are there in the following figure? 

fuEukafdr js[kkfp=k esa fdrus oxZ gS 

j/mK fdZs/ o/ykfuZso ftu fezB/ tor jBL a 
 

 

A)  13    B) 18   C) 15   D) None of these 
40. If the same  function is applied to reach the results in each of the three sets of numbers given 

below, then which number will replace  the question mark (?) in the third set of numbers? 
fuEukafdr  la[;kvksa ds rhu lsVksa esa ls gjsd esa fu"d"kksZ± rd igq¡pus ds fy, leku izfØ;k dk iz;ksx fd;k 
tkrk gS] rks la[;kvksa ds rhljs lsV esa iz'u&fpUg  (?) dk cny dkSu&lh la[;k gksxh\ 
j/mK fdZshnK ;zfynktK s/ fszB ;?ZNK ftu'A jo/e ftu fBÙeoÙK se gj[zuD tk;s/  ;wkB gqekoi dh 
tos'A ehsh iKdh j?, sK ;zfynktK d/ shi/ ;?ZN ftu gqÙB-fuzBQ (?) dk pdb fejVh ;zfynk j't/rh 
 

 
 
 
 

A)  24   B)  30   C)  36   D)  40 
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41. Around 1945, who developed the idea of a stored program computer that was to hold 
programs and data in a memory and then data would move between the memory and the 
processor? 

 A) Alan Turing  B) Tim Berners-Lee    C) Charles Babbage    D) John Von-Neumann  
1945 ds bnZ&fxnZ]  LVksjM izksxzke daI;wVj dk fopkj  fdl us fodflr fd;k ftlus izksxzkeksa vkSj MsVk dks 
eseksjh esa lqjf{kr j[kuk Fkk vkSj fQj MsVk eseksjh vkSj izkslsl~j ds njfe;ku LFkku cnyrk jgsxk% 

 A) ,yu Vqfjax  B) fVe cuZjt+&yh C) pkyZl cSct        D) tkWgu okWu&U;weSu 
1945 d/ nk;-gk;, ;N'ov gq'rqkw ezfgT{No dk ftuko fe; B/ ftef;s ehsk fi; B/ gq'rqkwK ns/ 
v/Nk ˘ w?w'oh  ftu ;[oZfyns oZyDk ;h ns/ fco v/Nk w?w'oh  ns/ gq';?;o dofwnkB EK pdbdk 
oj/rkL 

 A) n?bB N[fozr   B) fNw poBo˜-bh C) ukob; p?pi D) i"jB t"B-fBT{w?B 
 

42. Identify the correct order of the following list of computer components ranked from slowest 
to fastest access time. 
vfr /heh ls vfr rst+ igq¡p le; rd Øec¼ daI;wVj ?kVdksa dh uhps nh xbZ lwph dk lgh Øe crkvks% 
pj[s j"bh s'A pj[s s/˜ gj[zu ;w/A se eqwpZX ezfgT{No xNeK dh j/mK fdZsh ;{uh dk ;jh eqw dZ;'L 
 (a) CPU Cache      (b) RAM       (c) Solid State Drive        (d) Optical Drive 

 A) d, c, b, a        B) a, b, c, d    C) b, a, d, c    D) c, d, a, b 
43. Match List-I and List-II. 

lwph &I vkSj lwph &II  dk esyku djks%   

;{uh - I ns/ ;uh - II dk w/bkB eo'L 
List-I (Internet Protocol) 
lwph &I (baVjusV izksVksdkWy) 

  ;{uh - I (fJzNoB?N gq'N'e"b) 

List-II (Internet Activity) 
lwph &II (baVjusV ,fDVfoVh) 

;{uh - II (fJzNoB?N n?efNftNh) 
a) HTTP (i)  Sends email through the Internet  

     abVjusV ds }kjk bZesy Hkstrk gS 
      fJzNoB?N okjhA Jhw/b G/idk j? 

b) SSL (ii)  Encrypts data for online transmission 
     vkWuykbu Vªkalfe'ku ds fy, MsVk dk dksMhdj.k djrk gS 
       n"BbkJhD NqK;fwÙB bJh v/Nk dk e'vheoB eodk j? 

c) SMTP (iii) Sends TCP/IP packets to web server 
       TCP/IP iSfdVksa dks osc loZj rd Hkstrk gS 
        TCP/IP g?feNK ˘ t?Zp ;oto se G/idk j?  

d) FTP (iv) Transfers files over the Internet 
     baVjusV ij Qkbyksa dk gLrkarj.k djrk gS 
      fJzNoB?N s/ ckJhbK dk j;sKsoB eodk j? 

 

 A)  a)-(iv)  b)-(iii)  c)-(ii)  d)-(i)    B)  a)-(ii)  b)-(i)  c)-(iv)  d)-(iii)   
 C)  a)-(i)  b)-(iv)  c)-(iii)  d)-(ii)    D)  a)-(iii)  b)-(ii)  c)-(i)  d)-(iv)   

44. Given below are two statements: 
Statement I:  The value of hexadecimal number 21 is 33 in decimal number system. 
Statement II: The value of binary number 1110 is 14 in decimal number system. 
In the light of the above statements, choose the correct answer from the options given below: 

 

 A) Both Statement I & Statement II are true.     B) Both Statement I & Statement II are false. 
 C) Statement I is true but statement II is false.   D) Statement I is false & Statement II is true. 

uhps nks dFku fn, x, gSa% 
 dFku I  %  n'eyo la[;k iz.kkyh esa Ng&n'eyoh la[;k 21 dk ewY; 33 gS 
 dFku II  % n'eyo la[;k iz.kkyh esa f}&vk/kjh la[;k 1110 dk ewY; 14 gS  
 mi;qZDr dFkuksa ds izdk'k esa fuEukafdr  fodYiksa esa ls lgh mÙkj dk p;u djks% 
 A) nksuksa dFku I vkSj dFku II lgh gSa              B) nksuksa dFku I vkSj dFku II x+yr gSa   

C) dFku I lgh gS ijUrq dFku II x+yr gSa        D) dFku I x+yr gS vkSj dFku II lgh gSa 
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j/mK d' eEB fdZs/ rJ/ jBL 
 eEB I L  dÙwbt ;zfynk gqDkbh ftu S/-dÙwbth ;zfynk 21 dk w[Zb 33 j? 
 eEB II L dÙwbt ;zfynk gqDkbh ftu d'-nkXkoh ;zfynk 1110 dk w[Zb 14 j? 
 T[go'es eEBK dh o'ÙBh ftu j/mK fdZs/ ftebgK ftu'A ;jh T[Zso dh u'D eo'L 

A) d't/A eEB I ns/ eEB II  ;jh jB       B) d't/A eEB I ns/ eEB II  ˆbs jB   
C) eEB I ;jh j? go eEB II  ˆbs j?  D) eEB I ˆbs j? ns/ eEB II  ;jh j? 

 

45. A software is termed as open-source software if 
 A) the software development company is open 24 x 7. 
 B) its source code is available to share, study and modify.  
 C) it can be downloaded from the Internet. 
 D) it is always available free of cost. 

lkWÝVos;j dks vksiu&lkslZ lWkÝVos;j dgk tkrk gS ;fn & 
 A) lkWÝVos;j fodkl daiuh 24 x 7 [kqyh jgrh gS    
 B) bl dk lkslZ dksM lk>ka djus] vè;;u djus vkSj la'kksa/u djus ds fy, miyC/ gksrk gS   

C) bls baVjusV ls MkmuyksM fd;k tk ldrk gS   
 D) ;g ges'kk eqÝr  miyC/ gksrk gS 

;"cNt/no  ˘ UgB-;'o; ;"cNt/no fejk iKdk j? i/L 
 A) ;"cNt/no  ftek; ezgBh 24 x 7 y[bQh ofjzdh j? 

B) fJ; dk ;'o; e'v ;KMk eoB, nfXn?B eoB ns/ ;[XkJh eoB bJh T[gbpX j[zdk j?   
C) fJ; ˘ fJzNoB?N  s'A vkT{Bb'v ehsk ik ;edk j? 
D) fJj jw/Ùk w[¯s T[gbpX j[zdk j? 

 

46. Which of the following statements are correct about computer networks? 
a) An Intranet is a public network. b) The Internet is a group of interconnected networks. 
c) An extranet is an internal network that can be accessed externally by authorized users. 
daI;wVj usVodZl ds ckjs esa dkSu&lk dFku lgh gS& 

 a) baVjkusV ifCyd usVodZ gS  b) baVjusV vUr% lEc¼ usVodZl  dk lewg gS  
 c) ,DLVªkWusV baVjuy usVodZ gS ftl rd vf/d`r iz;ksxdrkZ ckÞ; rkSj ij igq¡p dj ldrs gSa 

ezfgT{No B?NZtoe;  pko/ fejVk eEB ;jh j?L 

 a) fJzNokB?N gpfbe B?Ntoe j?  b) fJzNoB?N nzso-;zpzfXs B?Ntoe; dk ;w{j j?   

c) n?e;NqkB?N  fJzNoBb B?Ntoe j? fi; se nfXfeqs tos'Aeko pkjoh s"o s/ gj[zu eo ;ed/ jB 
 A)  a and b only B) a and c only C)  b and c only   D) a, b, and c 
 

47. In comparison to secondary computer storage, primary storage is: 
 A) Slower, more expensive per unit of storage and persistent. 
 B) Faster, less expensive per unit of storage and persistent. 
 C) Faster, more expensive per unit of storage and not persistent.  
 D) Faster, less expensive per unit of storage and not persistent. 

xkS.k daI;wVj LVksjst dh rqyuk esa izkFkfed LVksjst gS% 
 A) vfr /hek] LVksjt ds izfr ;wfuV vf/d eg¡xk vkSj fpjLFkkbZ  
 B) vfr rst+] LVksjst ds izfr ;qfuV de eg¡xk vkSj fpjLFkkbZ 
  C) vfr rst+] LVksjst ds izfr ;qfuV vf/d eg¡xk vkSj fpjLFkkbZ ugha  
 D) vfr rst+] LVksjst ds izfr ;wfuV de eg¡xk vkSj fpjLFkkbZ ugha 

ezfgT{No ;N'o/i d/ w[ekpb/ s/ gqkEfwe ;N'o/i j?L 

 A) nsh Xhwk, ;N'o/i d/ gqsh :{fBN nfXe wfjzrk ns/ fuo;EkJh    

B) nsh s/˜, ;N'o/i d/ gqsh :{fBN xZN wfjzrk ns/ fuo;EkJh   

C) nsh s/˜, ;N'o/i d/ gqsh :{fBN nfXe wfjzrk ns/ fuo;EkJh BjhA  

D) nsh s/˜, ;N'o/i d/ gqsh :{fBN xZN wfjzrk ns/ fuo;EkJh BjhA 
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48. With respect to computers, which one of the following best describes phishing? 
 A) A malicious program installed on a system that stays concealed avoiding detection. 
 B) A method of bypassing normal authentication procedures over a connection to a network. 
 C) A type of unsolicited bulk email of identical messages sent to numerous recipients. 
 D) An attempt to acquire sensitive information for malicious reasons, by masquerading as a  
                 trustworthy entity.  

daE;wVjksa ds lanHkZ esa] fQf'kax dks csgrjhu  rjhds ls dkSu&lk c;ku djrk gS% 
 A) flLVe ij LFkkfir nqHkkZo iw.kZ izksxzke tks igpku ls cpus ds fy, xksiuh; jgrk gS   
 B) usVodZ ds fy, dusD'ku ij lkekU; izek.khdj.k fof/;ksa dh vogsyuk djus dh fof/ gS  

C) cgqla[;d izkIrdrkZvksa dks Hksts leku lans'kksa dh fcuk ekaxh Fkksd bZesy dh fdLe gS   
D) Hkjksls;ksX; gLrh ds :Ik easa Ny&diV ls] nqHkkZoiw.kZ dkj.kksa ds fy, laosnu'khy lwpuk izkIr djus dk  
    iz;kl gS  

ezfgT{NoK d/ gq;zr ftu, fcfÙzr ˘ p/jsohB  sohe/  Bkb fejVk fpnkB eodk j?L 

 A) f;;Nw T[go ;Ekfgs  wzdGkth gq'rqkw  fijVk gSkD s'A puD bJh r[gs ofjzdk j?    

B) B?Ntoe bJh e[B?eÙB T[go ;kXkoB gqwkDheoB ftXhnK dh T[bzxDk eoB dh ftXh j?  

C) nDfrDs  gqkgseofsnK  ˘ G/i/ ;wkB  ;zd/ÙK dh fpBK wzrh E'e Jhw/b dh fe;w j?  

D) ftÙtk;:'r j;sh ti'A Sb-egN Bkb, wzdGkth  ekoBK bJh ;zt/dBÙhb ;{uBk gqkgs eoB dk  

:sB j? 
 

49. In MS-WORD, what is gutter margin? 
 A)  Margin that is added to the left margin when printing 
 B)  Margin that is added to right margin when printing 
 C)  Margin that is added to the binding side of page when printing  
 D) Margin that is added to the outside of the page when printing 

MS-WORD esa  xVj ekftZu D;k gS% 
 A) ,slk ekftZu tks eqnz.k ds le; ck,¡ gkf'k;s esa c<+k;k tkrk gS  
 B) ,slk ekftZu tks eqnz.k ds le; nk,¡ gkf'k;s esa c<+k;k tkrk gS   
 C) ,slk ekftZu tks eqnz.k es le; i`"B dh ftYncanh dh rjQ c<+k;k tkrk gS   
 D) ,slk eftZu tks eqnz.k ds le; i`"B ds ckgjh rjQ c<+k;k tkrk gS 

MS-WORD ftu rNo wkofiB eh j?L 

 A) ni/jk wkofiB fijVk SgkJh ;w/A yZp/ jkÙhJ/ ftu tXkfJnk iKdk j?   

B) ni/jk wkofiB fijVk SgkJh d"okB ;Zi/ jkÙhJ/ ftu tXkfJnk iKdk j?  

C) ni/jk wkofiB fijVk SgkJh d"okB gZB/ dh fibdpzdh gk;/ tXkfJnk iKdk j?  

D) ni/jk wkofiB fijVk  SgkJh d"okB gzB/ d/ pkjob/ gk;/ tXkfJnk iKdk j? 
 

50. In Windows OS, a confidential file needs to be deleted from a workstation. Which is the 
most effective way to ensure this? 

 A) Rename the file 
 B) Compress the file and back-up to tape 
 C) Copy and paste the file into the recycle bin and empty the recycle bin 
 D) Drag the file into the recycle bin and empty the recycle bin 

foaMkst+ OS esa] odZLVs'ku ls xksiuh; Qkby dks gVk nsus dh t+:jr gSA bls ;dhuh cukus ds fy, lc ls 
vf/d izHkkodkjh  rjhdk gS% 

 A) Qkby dk uke cnyks          
 B) Qkby dks dEizsl djks vkSj Vsi ds fy, cSdvi djks  
 C) Qkby dks dkih djks vkSj fjlkbDy fcu esa isLV djks vkSj fjlkbDy fcu dks [kkyh djks   

D) Qkby dks fjlkbDy fcu esa ?klhV ykvks vkSj fjlkbDy fcu dks [k+kyh djks 
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ftzv'˜ OS ftu, toe;N/ÙB s'A r[gs ckJhb ˘ jNk d/D dh b'V j?.  fJ; ˘ :ehBh pDkT[D bJh 

;G s'A tZX gqGktekoh sohek eh j?L 

 A) ckJhb dk BK pdb'   

B) ckJhb ˘ ezgq?; eo' ns/ N/g bJh p?e-nZg eo'  

C) ckJhb ˘ ekgh eo' ns/ oh;kJheb fpB ftu g/;N eo' ns/ oh;kJheb fpB ˘ ıkbh eo'.  

D) ckJhb ˘ oh;kJheb fpB ftu fyZu fbnkU ns/ oh;kJheb fpB ˘ ıkbh eo' 
51. What is meant by smothering of fire extinguishing? 
 A) removing  fuel element from fire  B) adding fuel element to  fire 
 C) isolating fire from oxygen supply  D)  using water to lower temperature 

vkx cq>kus esas leqFkfjax (smothering) dk D;k vfHkizk; gS% 
 A) vkx ls Ý;wy rRo dks gVk nsuk      B) vkx esa Ý;wy rRo dks feykuk   

C) vkx dks vkWDlhtu lIykbZ ls vyx djuk   D) rkieku de djus ds fy, ikuh dk iz;ksx djuk 

nZr p[MkT[D ftu ;w{EfoAr (smothering) dk eh wsbp j?L  

 A) nZr Bkb'A fcT{b sZs ˘ jNk d/Dk               B) nZr ftu fcT{b sZs ˘ fwbkT[Dk   

C) nZr ˘ n"e;hiB ;gbkJh s'A  nbr eoBk  D) skgwkB xNkT[D bJh gkDh dh tos'A eoBk 
 

52. Why is mortise chisel used ? 
 A) for general chiseling work on a piece of wood 
 B) for making rectangular  holes in piece of wood 
 C) for light chiseling  and cleaning  of sharp corners 
 D) for pairing and finishing of joints in a wood 

eksfVZl Nsuh dk iz;ksx D;ksa fd;k tkrk gS% 
 A) ydM+h ds VqdM+s ij lkekU; NSuh dk dke djus ds fy,    

B) ydM+h ds VqdM+s esa vk;krkdkj Nsn djus ds fy,    
C) NSuh dk gydk dke djus vkSj rh[ks dksuksa  dh lQkbZ ds fy,    
D) ydM+h esa tksM+ksa dh rS;kjh vkSj tksM+s cukus ds fy, 
w'qfN; S?Dh dh tos'A feT[A ehsh iKdh j?L   

 A) bZeVh d/ N[eV/ T[go nkw S?Dh dk ezw eoB bJh    
B) bZeVh d/ N[eV/ ftu nkfJskeko S/d eoB bJh   
C) S?Dh dk jbek ezw eoB ns/ fsZy/ e'fBnK dh ;¯kJh bJh   
D) bZeVh ftu i'VK dh fsnkoh ns/ i'V/ pDkT[D bJh 

 

53. What is the use of  ‘serving’ layers in underground cables? 
 A) protection from mechanical injury   B) protection from moisture 
 C) protection from atmosphere   D) protection from corrosion 

Hkwfexr dscyksa esa ^lqjf{kr* ijrsa cukus dk D;k Qk;nk gS% 
 A) edkudh gkfu ls lqj{kk    B) ueh ls lqj{kk       

C) ok;qeaMy ls lqj{kk          D) {k; gks tkus ls lqj{kk 

˜whBd'˜ e/pbK ftu “;[Zofysk” gosK pDkT[D dk eh ckfJdk j?L   

 A) wekBeh B[e;kB s'A ;[oZfynk   B) Bwh s'A ;[oZfynk   

C) tk:{wzvb s'A ;[oZfynk    D) y? j' ikD s'A ;[oZfynk 
 

54. Find the value of R in the  circuit  
ldZV esa R dk ewY; ekywe djks% 

;oeN ftu R dk w[Zb wkb{w eo'L  
A) 17.5 Ω   
B) 17.2 Ω 
C) 17.4 Ω   
D) 17.8 Ω 
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55. The average value of sinusoidal current is : 
lkbu&oØh; /kjk dk vkSlr ewY; gS% 

;kJhB-teoh Xkok dk n";s w[Zb j?L   

 A)
π
Im2

  B)
π
Im

   C)
π2

Im
   D)

π2
Im2

 

56. An R-L series circuit consist of  R=3Ω And XL = 4Ω.  The impedance of circuit is: 
R-L J`[kayk ldZV esa lfEefyr gS R =3Ω vkSj XL = 4Ω. ldZV dh izfrck/ gS% 

R-L bVh ;oeN ftu Ùkfwb j? R =3Ω  ns/ XL = 4Ω. ;oeN dh gqfspkXk j?L 
 Α) Ζ = 7Ω  Β) Z = 1Ω  C) Z = 5Ω  D) Z = 7 Ω 
 

57. A voltage divider circuit consist of two 68KΩ resistors and 24V source.  The unknown 
output voltage is: 
oksYVst foHkktd ldZV esa nks 68KΩ izfrjks/d vkSj 24Ω. lkslZ lfEefyr gSaA vKkr vkmViqV oksYVst gS% 

t'bN/i ftGkie ;oeN ftu d' 68KΩ gqfso'Xe ns/ 24Ω.  ;'o; ;zfwfbs  jB.  nfrnks 

nkT{Ng[N t'bN/i j?L   
 A) 12V  B) 24V   C) 0V   D) 6V 
 

58. On which of the following voltage range settings will a voltammeter   present minimum load 
on a circuit? 
fdl oksYVst ijkl lsfaVaxt+ ij] oksYVkehVj ldZV ij U;wure Hkkj n'kkZrk gS% 

fejVh t'bN/i gok; ;?fNzr˜ s/ t'bNkwhNo ;oeN T[go fBT{Bsw Gko fdykT[Adk j?L   
 A) 1 V   B) 50 V  C) 500 V  D) 1000 V 
 

59. An example of non-ohmic  resistance: 
 A) Diode  B) Tungsten wire C) Carbon resistance   D)  Copper wire 

xSj&vksfed izfrjks/ dk mnkgj.k gS% 
 A) Mk;ksM  B) VaxLVu rkj  C) dkcZu&izfrjks/ D) rk¡cs ds rkj 

r?o-Ufwe gqfso'X dk T[dkjoB j?L   

 A) vkfJUv  B) Nzr;NB sko C) ekopB gqfso'X D) sKp/ dh sko 
 

60. Find the potential  difference if a conductor  resistance is 50Ω and current passing through it 
is 5A: 
laHkkO; varj ekywe djks ;fn pkyd izfrjks/ 50Ω gS vkSj bl esa py jgh /kjk 5A gS% 

;zGkth nzzso wkb{w eo' i/ ukbe gqfso'X 50Ω  j? ns/ fJ; EkDhA ub ojh Xkok 5A j?L   
 A) 150 V  B) 250 V  C) 50 V  D) 15 V 
 

61. The algebraic sum of voltages around any closed path in a network is : 
A) Infinity  B) 1   C) 0   D) negative polarity 
,d usVWodZ esa fdlh can ekxZ ds bnZ&fxnZ oksYVstksa dk chtxf.krh;  tksM+ gS% 

 A) vuarrk  B) 1   C) 0   D) Í.kkRed /zqoh;rk 

fJe B?Ntoe ftu fe;/ pzd wkor d[nkb/ t'bN/iK dk phirfDsh i'V j?L   

 A) nBzssk  B) 1   C) 0             D) foDkswe Xo[tsk 
 

62. Calculate the current supplied  by the battery in the circuit shown below: 
uhps fn[kk, x, ldZV esa cSVjh }kjk lIykbZ /kjk dh x.kuk djks% 
j/mK fdykJ/ rJ/ ;oeN ftu p?Noh tb'A ;gbkJh Xkok dh rDBk eo'L   

 A)  2.881 A   
B)  2.099 A 
C)  1.20 A   
D)  2.68 A 

 

 

  



 Page 14 of 20 

63. Calculate the equivalent resistance of network across terminals  A & B 
A vkSj B VfeZuyksa ds vkj&ikj usVWodZ ds leku izfrjks/ dh x.kuk djks% 
A ns/ B NowhBbK d/ nko-gko B?Ntoe d/ ;wkB gqfso'X dh rDBk eo'L   
 

 A) 8 Ω    
B) 6 Ω   
C) 4 Ω   
D) 2 Ω 
 

64. Which is applicable for magnetic circuits ? 
 A) Thevenin’s  theorem   B) Norton’s theorem 
 C)  Maximum power transfer theorem D) Kirchhoff’s  law 

pqEcdh; ldZVksa ds fy, dkSu&lk iz;ksT; gS% 
 A) Fksosfuu izes;      B) ukVZu izes;       C) vf/dre ikoj LFkkukarj.k izes; D) fdj'kkWQ fu;e 

u[zpeh ;oeNK bJh fejVk bkr{ j'D :'r j?L   
 A) E?t/fBB gqw/:      B) B"oNB gqw/:      

C) nfXesw gkto ;EkBKsoB gqw/:    D) feoÙ"c dk fB:w 
 

65. Self-inductance of a coil can be expressed as : 
dk;y dh Lo&izsjdrk dks dSls O;Dr fd;k tk ldrk gS% 
ekfJb dh ;t?-gq/oesk ˘ fet/A ftnes ehsk ik ;edk j?L   

 A) L =
��∅

��
  B) 

dt
NdØ

L =   C) 
dt

Ndi
L =   D) 

dt
dØN

L
2

=  

66. In any R – L circuit,  XL = R.  The power factor angle q of the circuit is : 
fdlh Hkh R – L ldZV esa] XL = R. ldZV dk ikoj QsDVj dks.k q gS% 
fe;/ th R – L ;oeN ftu, XL = R. ;oeN dk gkto c?eNo e'D  q  j?L   

 A) 300   B) 450   C) 600   D) 00 
 

67. The form factor of a square wave is : 
oxZ rjax dk QkWeZ dkjd gS% 
tor sozr dk ckow ekoe j?L   

 A) 1.11  B) 1.0   C) 0   D) 1.414 
 

68. When two  wattmeters are used to measure  3-∅  balanced  circuit  and one wattmeter  reads 
negative,  it means  angle of lag is : 
tc nks okWVehVjksa dks 3-∅  larqfyr ldZV ekius ds fy, iz;ksx fd;k tkrk gS vkSj ,d okWVehVj Í.kkRed  
n'kkZrk gS] bl dk eryc gS fd ySx dk dks.k gS% 

id'A d" tkNwhNoK ˘ 3-∅  ;zs[fbs ;oeN wkgD bJh tofsnk iKdk j? ns/ fJe tkNwhNo 

foDkswe do;kT[Adk j?, fJ; dk wsbp j? fe b?r dk e'D j?L   
 A) 00    B) 300   C) 600   D) Above 600   

69. Which electrolyte  is used in Lead-Acid  cell : 
 A) Concentrated  H2SO4 B) Diluted H2SO4 C) NaOH  D) NaCl 

ysMW&,flM lsyW esa iz;qDr bysDVªksykbV dkSu&lk gS% 
 A) ladsafnzr H2SO4 B) irykd`r H2SO4  C) NaOH  D) NaCI 

b?Zv-n?f;v ;?Zb ftu toshnk iKdk fJb?eNq'bkJhN fejVk j?L   

 A) ;ze/Afdqs H2SO4 B) gsbk ehsk H2SO4    C) NaOH            D) NaCI 
 

70. Which  type of Semi-conductor used to fabricate a solar cell: 
 A) Silicon B) Gallium Arsenide  C) Cadmium Sulphide   D) All of the above 

lkSj lsyW cukus ds fy, v/Z&pkyd dh fdl fdLe dk iz;ksx fd;k tkrk gS% 
 A) flfydksu B) xsfy;e vklsZuk;M  C) dsMfe;e lYQk;M    D) mi;qZDr lHkh 
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;"o ;?b pDkT[D bJh noX-ukbe dh fejVh fe;w tosh iKdh j?L   
 A) f;bhe'B      B) r?bhnw nko;/BkJhv C) e?vfwnw ;bckJhv     D) T[go'es ;ko/ jh 
 

71. The type of fuel cell which operates at high temperature of 10000C  and above is: 
 A) Alkaline Fuel Cell     B) Solid Oxide   

C) Phosphoric  Acid      D) Proton Enhanced Membrane  
Ý;wy lsyW tks 10000C ds mPp rkieku vkSj bl ls vf/d ij fØ;k'khy gksrk gS] og gS% 

 A) vYdykbu Ý;wy lsyW   B) Bksl vkWDlkbM C) QkLQksfjd ,flM D) izksVksu laof/Zr f>Yyh 
fcT{b ;?b fijVk  10000C  d/ T[Zu skgwkB ns/ fJ; s'A tZX feqnkÙhb j[zdk j?, T[j j?L 

 A) nbebkJhB fcT{b ;?Ab   B) m'; n"e;kJhv  
C) ck;c'foe  n?f;v             D) gq'N'B Bkb tXkJh fMZbh 

 

72. Identify given symbol used in electrical wiring : 
 fo|qr~ ok;fjax esa iz;qDr fpUg dh igpku djks% 

fpibh dh tkfJfozr ftu tos/ iKd/ fuzBQ dh gSkD eo'L 
 A) Signal lamp (flxuy ysEi) (f;rBb b?Ag)  

B) Neutral line (fujkosf'kr ykbu) (fBo-nkt/fÙs bkJhB)  
C) Rewireable fuse (iqu% ok;j;ksX; Ý;wt) (g[Bo-tkfJo:'r fcT{˜)  
D) Cartridge fuse (dkVZfjt Ý;wt+) ( ekoNfoi fcT{˜) 

  

73. Simplest and cheapest wiring method is : 
 A) cleat wiring     B) batten wiring 
 C) lead concealed wiring   D) wooden casing capping wiring 

vfr lk/kj.k vkSj lLrh ok;fjax fof/ gS% 
 A) DyhV ok;fjax    B) csVu ok;fjax    

C) flDdk izPNkfnr ok;fjax   D) ydM+h ds [kksy ls <dh ok;fjax 
pj[s jh ;kXkoB ns/ ;;sh tkfJfozr ftXh j?L   

 A) ebhN tkfJozr    B) p/NB tkfJfozr   
C) f;Ze/ Bkb bg/Nh tkfJfozr   D) bZeVh d/ y'b Bkb Yeh tkfJfozr 
 

74. A battery charger acts like a : 
 A) converter  B) rectifier  C) chopper  D) cycloconverter 

cSVjh pktZj fdl rjg ls dke djrk gS% 
 A) dUoVZj  B) jsfDVQk;j  C) pkSij  D) lkbDyksdUoVZj 

p?Noh  ukoio fe; soQK Bkb ezw eodk j?L   
 A) eBtoNo   B) o?eNhckfJo  C) u"go  D) ;kJheb'eBtoNo 
 

75. One candle power source of light  emits: 
 A)  one lumen / meter       B) one lumen / watt    

C) one lumen / steradian     D) one lumen / radian  
izdk'k dk eksecÙkh ikoj L=kksr  QSykrk gS% 

 A) ,d ywesu@ehVj   B) ,d ywesu@okWV C) ,d ywesu@LVªsfM;u   D) ,d ywesu@jsfM;u 

gqekÙ dk w'wpZsh gkto ;'qs c?bkT[Adk j?L 

 A) fJe b{w/B$whNo B) fJe b{w/B$tkZN   C) fJe b{w/B$;No/vhnB     D) fJe b{w/B$ o/vhnB 
 

76. Which lamp has the best colour rendering  Index (CRI): 
 A) LED B) Incandescent  C) Fluorescent          D)  High pressure sodium vapour  

fdl ysEi dk csgrjhu jax izn'kZd lwpdkad (CRI)  gksrk gS% 
 A) LED  B) mnhir  C) izfrnhir  D) mPp ncko lksfM;e ok"i 

fejV/ b?Ag dk p/jsohB ozr gqdoÙB ;{ueKe (CRI)  j[zdk j?L   

  A) LED B) T[dhgs  C) gqfsdhgs          D) T[Zu dpkn ;'vhnw tkÙg 
 

77. The ratio of luminous  flux  emitted by a lamp to the power consumed  by lamp is : 
 A) Lux   B) Luminous efficiency  C) Illuminance  D) CRI 



 Page 16 of 20 

ysEi }kjk [kir dh ikoj ds fy, ysEi }kjk izlkfjr izdk'keku izokg dk vuqikr gS% 
 A) yDl  B) izdk'keku dq'kyrk    C) iznhiu  D) CRI 

b?Ag tb'A ygs ehsh gkto bJh b?Ag tb'A gq;kfos gqekÙwkB gqtkj dk nB[gks j?L   

 A) be;  B) gqekÙwkB e[Ùbsk  C) gqdhgB  D) CRI 
 

78. Scale of PMMC  instrument is : 
 A) Cubed  B) 4th power   C) Uniform  D) Linear 

PMMC midj.k dk Ldsy gS% 
 A) D;wcM  B) 4th ikoj   C) ,dleku  D) jSf[kd 

PMMC T[geoB dk ;e/b j?L   

 A) feT{pv  B) 4th gkto   C) fJe;ko  D) o/fye 
 

79. Wheatstone  bridge is used to measure: 
 A)  Capacitance B) Resistance   C) Current  D) Inductance 

OghVLVksu fczt dk iz;ksx fdls  ekius ds fy, fd;k tkrk gS% 
 A) fo|qr~ /kfjrk      B) izfrjks/   C) /kjk   D) izsjdrk 

tjhN;N'B fpqi dh tos'A fe; ˘ wkgD bJh ehsh iKdh j?L   

 A) fpibh-Xkfosk B) gqfso'X   C) Xkok   D) gq/oesk 
 

80. SWG is used to measure: 
 A) Diameter of wire     B) Length of wire 
 C) Cross-sectional area of wire   D) Insulation of wire 

SWG dk iz;ksx fdls ekius ds fy, fd;k tkrk gS% 
 A) ok;j dk O;kl     B) ok;j dh yEckbZ  

C) ok;j dk vuqizLFk dkV okyk LFkku   D) ok;j dks vpkyd cukuk 

SWG dh tos'A fe; ˘ wkgD tk;s/ ehsh iKdh j?L   

 A) tkfJo dk ftnk;     B) tkfJo dh bzpkJh  

C) tkfJo dh N/Yh ekN tkbh EK    D) tkfJo ˘ nukbe pDkT[Dk 
 

81. Which type of fuse is used for low capacity: 
 A) Kitkat  B) HRC  C) Cartridge  D) All of the above 

fuEu {kerk ds fy, Ý;wt dh fdl fdLe dk iz;ksx fd;k tkrk gS% 
 A) fdVdSV  B) HRC  C) dkVZfjt  D) mi;qZDr lHkh 

fBwB ;woEk bJh fcT{˜ dh fe; fe;w dk fJ;s/wkb ehsk iKdk j?L   

 A) feNe?N  B) HRC     C) ekoNfoi  D) T[go'es ;ko/ jh 
82. If the nominal voltage of a given battery is 1.2 V, what type of cell is used: 
 A) Lithium ion B) Lead acid  C) Nickel  Cadmium     D) Zinc Silver oxide 

;fn ,d cSVjh dh lkadsfrd oksYVst 1.2 V gks rks fdl izdkj ds lsyW dk iz;ksx fd;k tkrk gS% 
 A) fyfFk;e vk;u B) ysMW ,flM  C) fudy dsMfe;e D) fta+d flYoj vkWDlkbM 

i/ fJe p?Noh dh ;ze/se t'bN/i 1.2 V j?, sK fe; gqeko d/ ;?Zb dh tos'A  ehsh iKdh j?L   

 A) fbfEnw nkfJB B) b?Zv n?f;v    C) fBeb e?vfwnw             D) f˜ze f;bto n"e;kJhv 
 

83. Top pin of three pin plug is connected to: 
 A) Phase wire  B) Earth wire  C) Neutral wire D) Any of the above 

rhu&fiu Iyx dk mijyk fiu fdl ls tksM+k gksrk gS% 
 A) Qst+ ok;j  B) vFkZ ok;j  C) U;qVªy ok;j  D) mi;qZDr esa ls dksbZ Hkh 

fszB-fgB gbZr dk T[gobk fgB fe; Bkb i'fVnk iKdk j?L   

 A) c/˜ tkfJo  B) noE tkfJo  C) fBT{Nob tkfJo D) T[go'es ftu'A e'Jh th 
 

84. In a cable, the voltage stress is maximum at : 
 A) Sheath         B) Core of conductors   C) Surface of conductor D)  Insulator 
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dscy esa oksYVst cy fdl ij vf/dre gksrk gS% 
 A) vkoj.k  B) pkydksa dh dksj C) pkyd dh lrg  D) fo|qr~jks/h 

e/pb ftu, t'bN/i pb fe; s/ nfXesw j[zdk j?L   

 A) nktoB  B) ukbeK dh e'o C) ukbe dh ;sj   D) fpibh-o'Xh 
 

85. Conduit pipes are used to protect: 
 A) PVC sheathed cables   B) Armoured  cables  C) Unsheathed cables     D) All of the above 

ukyh ikbaiksa dk iz;ksx fdls lqjf{kr j[kus ds fy, fd;k tkrk gS% 
 A) PVC ls <dh dscysa  B) dop/kjh dscysa C) uaxh dscysa           D) mi;qZDr lHkh 

Bkbh gkJhgK dh tos'A fe; ˘ ;[oZfyns oZyD tk;s/ ehsh iKdh j?L   

 A) PVC Bkb YehnK e/pbK B) etu-Xkoh e/pbK  C) BzrhnK e/pbK D) T[go'es ;ko/ 
86. In a dc machine laminated parts are  armature  core and ____________. 
 A) pole shoes   B) yoke  C) shaft  D) base 

dc e'khu esa ijrnkj Hkkx vkesZpj dksj vkSj _____ gSa% 
 A) /zqzo dksj   B) ;ksd   C) 'kkÝV  D) csl 

dc wÙhB  ftu gosdko  Gkr nkow/uo e'o ns/ ______ jBL   

 A) Xo[t e'o   B) :'e   C) ÙkcN  D) p/; 
 

87. Increase in the number of commutator segments of a dc  machine  results in: 
 A) Decrease in total output power        B) Increase in total output power 
 C) Smoothening of shape of output dc wave       D) Increase in magnitude of output voltage 

dc e'khu ds fn'kk&ifjorZd [kaMksa dh la[;k esa o`f¼ dk ifj.kke gksrk gS% 
 A) dqy vkmViqV ikoj esa deh    B) dqy vkmViqV ikoj esa o`f¼   

C) vkmViqV dc rjax ds vkdkj  dks cjkcj djuk  D) vkmViqV oksYVst ds ifjek.k esa o`f¼ 

dc wÙhB d/ fdÙk-gfotosB yzvK dh ;zfynk ftu ftqXh dk f;ZNk j[zdk j?L   

 A) e[b nkT{Ng[N gkto ftu ewh           B) e[b nkT{Ng[N gkto ftu ftqXh 

 C) nkT{Ng[N dc sozr d/ nkeko ˘ pokpo eoBk      D) nkT{Ng[N t'bN/i d/ gfowkD ftu ftqXh 
 

88. Brushes of a commutator are made of : 
 A) Aluminum  B) Carbon  C) Copper  D) Rubber 

fn'kk&ifjorZd ds cqjN fdl ls cuk, tkrs gSa% 
 A) ,yqfefu;e  B) dkcZu    C) rk¡ck   D) jcM+ 

fdÙk-gfotose d/ p[oÙ fe; d/ pDkJ/ iKd/ jBL   

 A) n?b[fwfBnw  B) ekopB  C) sKpk  D) opV 
 

89. In a dc  machine, without interpoles, for improved commutation, brush  shift angle must be: 
 A) Zero degree    B) Kept constant 
 C) Varied with change in load  D) None of the above 

csgrj fn'kk&ifjorZu ds fy, varj&/zqoksa ds cxS+j dc e'khu esa cqjN f'kÝV dks.k gksuk pkfg,% 
 A) 'kwU; fMxzh     B) fLFkj j[kk tkrk gS    

C) Hkkj ds ifjorZu ls fofo/   D) mi;qZDr esa ls dksbZ Hkh ugha gS 

p/jso fdÙk-gfotosB bJh nzso-Xo[tK pˆ?o dc wÙhB ftu, p[oS fÙcN e'D j'Dk ukjhdk j?L   

 A) f;¯o fvroh    B) ;fEo oZfynk iKdk j?   

C) Gko ftu spdhbh Bkb ftftX  D) T[go'es ftu'A e'Jh th BjhA j? 
 

90. The given  symbols show: 
 
 

A) diode  B) inductor C) Capacitor         D) Rheostat  
fn;s x, fpUg n'kkZrs gSa% 

 A) Mk;ksM  B) izsjd  C) diSflVj  D) /kjk&fu;a=kd 



 Page 18 of 20 

fdZs/ j'J/ fuzBQ do;kT[Ad/ jBL  

 A) vkfJUv  B) gq/oe C) eg?f;No  D) Xkok-fB:zsqe 
 

91. No-load current of a 3−∅  squirrel cage induction motor at rated voltage is : 
 A) 30% to 50% of rated current    B) Rated current 
 C) 5% to 10% of rated current   D) 5 to 7 times of rated current 

fu/kZfjr oksYVst ij 3−∅  fLDojy dst izsjd eksVj dh Hkkj&jfgr /kjk gS% 
 A) fu/kZfjr /kjk dk 30% ls 50%   B) fu/kZfjr /kjk    

C) fu/kZfjr /kjk dk 5% ls 10%   D) fu/kZfjr /kjk dk 5 ls 7 xquk 

fBoXkfos t'bN/i s/ 3−∅  ;eftob e/i gq/oe w'No dh Gko-ofjs Xkok j?L   

 A) fBoXkfos Xkok dk 30% s'A 50%   B) fBoXkfos Xkok   

C) fBoXkfos Xkok dk 5%  s'A 10%   D) fBoXkfos Xkok dk 5 s'A 7 r[Dk 
 

92. Induction generators deliver power at __________ power factor: 
 A) Lagging   B) Leading  C) Unity  D) Zero 

izsjd tSujsVj ____ ikoj QsDVj ij ikoj eqg;k djrs gSa% 
 A) izfrxkeh   B) vxzxkeh  C) ,d   D) 'kwU; 

gq/oe i?Bo/No ________ gkto c?eNo s/ gkto w[jJhnk eod/ jBL   

 A) gqshrkwh   B) nrorkwh  C) fJe   D) f;¯o 
 

93. In an induction motor, if rotor is locked, then rotor frequency of induction motor will be: 
 A) equal to supply frequency   B) more than supply frequency 
 C) less than supply frequency   D) zero 

izsjd eksVj esa] ;fn jksVj dks ykWd dj fn;k tkrk gS] rks izsjd eksVj dh jksVj vko`fr gksxh% 
 A) lIykbZ vko`fr ds cjkcj   B) lIykbZ vko`fr ls vf/d    

C) lIykbZ vko`fr ls de    D) 'kwU; 

gq'oe w'No ftu, i/ o'No ˘ b"e eo fdZsk iKdk j?, sK gq/oe w'No dh o'No nkftqsh j't/rhL   

 A) ;gbkJh nkftqsh d/ pokpo   B) ;gbkJh nkftqsh Bkb'A nfXe   

C) ;gbkJh nkftqsh s'A xZN   D) f;¯o 
 

94. An iron cored choke coil when connected to 15V DC supply draws a current of 1.5A.When 
it is connected to 230V, 50Hz supply it takes 2A current and consume 60W. The iron loss in 
core is: 
tc yksg dksj;qDr pksd dk;y dks 15V DC lIykbZ ls tksM+k tkrk gS rks ;g 1.5A /kjk dks [kSaprh gSA tc  
bls 230V, 50Hz lIykbZ ls tksM+k tkrk gS] rks ;g 2A /kjk izkIr djrh gS vkSj 60W dh [kir djrs gSA 
dksj esa yksgs dh gkfu gS 

id'A b'j e'o:[es u'e ekfJb ˘ 15V DC ;gbkJh Bkb i'fVnk iKdk j? sK fJj 1.5A  Xkok fyudh 

j?. id'A fJ; ˘ 230V, 50Hz ;gbkJh Bkb i'fVnk iKdk j?, fJj 2A Xkok gqkgs eodh j? ns/ 60W 

dh ygs eodh j?.  e'o ftu b'j/ dk B[e;kB j?L   
 A) 20W  B) 40W  C) 7.5W  D) 10W 
 

95. The magnetic field  produced in stator of 3-Ø  induction motor travels at: 
 A) Rotating speed B) Asynchronous speed   C) Synchronous Speed      D) Slip speed 

3−∅  izsjd eksVj ds LVsVj esa mRiUu pqEcdh; {ks=k fdl xfr ls vkxs c<+rk gS% 
 A) vkorhZ xfr  B) vrqY;dkfyd xfr  C) rqY;dkfyd xfr     D) fQlyu xfr 

3−∅  gq/oe w'No d/ ;N/No ftu T[sgzB uz[peh y/so fe; rfs Bkb nZr/ tXdk j?L   

 A) nktosh rsh B) ns[Zbekfbe  rsh              C) s[Zbekfbe rsh     D) fc;bD rsh 
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96. The octal equivalent of 1100101.001010 is : 
1100101.001010  dk v"Vk/kjh lerqY; gS% 

1100101.001010  dk nZm-nkXkoh ;ws[Zb j?L   
 A) 624.12  B) 145.12   C) 154.12  D) 145.21 
 

97. Convert binary equivalent 10101 to its decimal: 
f}&vk/kjh lerqY; 10101 dks bl ds n'eyo esa cnyks% 

d'-nkXkoh ;ws[Zb 10101 ˘ fJ; d/ dÙwbt ftu pdb'L   
 A) 21   B) 12    C) 22   D) 31 
 

98. The speed of a squirrel cage motor is: 
 A) varies as per stator line current            B) incorporates resistance of rotor circuit 
 C) changed by changing number of stator poles      D) changed by changing rotor pole 

fLDojy dst eksVj dh xfr gS% 
 A) LVsVj ykbu /kjk ds vuqlkj cnyrh gS          B) jksVj ldZV ds izfrjks/ dks lfEefyr djrh gS 

C) LVsVj /zqoksa dh cnyrh la[;k ds vuqlkj ifjofrZr     D) cnyrs jksVj /zqo ds vuqlkj ifjofrZr 

;eftob e/i w'No dh o¯sko j?L   

 A) ;N/No bkJhB Xkok nB[;ko pdbdh j?  B) o'No ;oeN d/ gqfso'X ˘ Ùkfwb eodh j?

 C) ;N/No Xo[tK dh pdbdh ;zfynk Bkb pdbh            D) pdbd/ o'No Xo[t Bkb pdbh 
 

99. Electric vehicles can catch fire due to: 
 A) Manufacturing defects B) External damage C) Faulty charging   D) All of the above 

fo|qr~ okgu dks fdl otg ls vkx yx ldrh gS% 
 A) fuekZ.kdkjh [k+jkch         B) ckgjyh VwV&QwV C) nks"kiw.kZ pkftZxa D) mi;qZDr lHkh 

 fpibh d/ tkjD ˘ fe; tij Bkb nZr bZr ;edh j?L   

 A) fBowkDekoh ıokph       B) pkjobh N[ZN-c[ZN     C) d'Ùg{oB ukofizr       D) T[go'es ;ko/ jh 
100. What improvements in technology have increased interest in EVs? 
 A) Charging stations specific to each type of vehicle. 
 B) High cost and poor public awareness 
 C) Improved range, power and lighter batteries 
 D) None of the above 

rDukyksth esa fdu lq/kjksa us EVs esa fnypLih c<+kbZ gS% 
 A) gjsd fdLe ds okgu ds fy, fo'ks"k pkftZ±x+ LVs'ku   B) mPp ykxr vkSj yksxksa esa de tkx#drk 

C) csgrj ijkl] ikoj vkSj gydh cSVfj;k¡     D) mi;qZDr esa ls dksbZ Hkh ugha gS 
seBkb'ih  ftu fejV/ ;[XkoK B/ EVs ftu fdbu;gh tXkJh j?L   

 A) jo/e fe;w d/ tkjD tk;s/ ftÙ/Ù ukofizr ;N/ÙB    
B) T[Zu bkrs ns/ b'eK ftu xZN ikro{esk   
C) p/jso gok;, gkto ns/ jbehnK p?NohnK   
D) T[go'es ftu'A e'Jh th BjhA j? 

*** 
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ANSWER  KEY  (A-Series) 

Q.No. Ans Q.No. Ans Q.No. Ans Q.No. Ans 

1 B 26 B 51 A 76 B 

2 B 27 D 52 B 77 B 

3 C 28 C 53 C 78 C 

4 B 29 A 54 A 79 B 

5 A 30 C 55 A 80 A 

6 B 31 D 56 C 81 A 

7 C 32 D 57 A 82 C 

8 B 33 B 58 D 83 B 

9 B 34 C 59 A 84 B 

10 D 35 B 60 B 85 C 

11 C 36 C 61 C 86 A 

12 A 37 A 62 B 87 C 

13 A 38 A 63 C 88 B 

14 A 39 D 64 D 89 C 

15 B 40 B 65 A 90 D 

16 C 41 D 66 B 91 A 

17 A 42 A 67 B 92 B 

18 C 43 D 68 D 93 A 

19 B 44 A 69 B 94 A 

20 A 45 B 70 D 95 C 

21 A 46 C 71 B 96 B 

22 C 47 C 72 C 97 A 

23 B 48 D 73 A 98 C 

24 A 49 C 74 B 99 D 

25 D 50 D 75 C 100 C 

 




